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Lecture Thirteen

Eng 121
Vocabulary– Grammar- Reading 
Chapter 9-10

Elements of Lecture 13 
  
 I- Using [ Has – Have - Had ]
 II. Using ( too, two, to, toe)
 III. Giving Advice Using (Should)
 
  
  
 
   

 
            
I. Using Verbs to Have [ Has- Have – Had ]
“Verbs to Have” are used in TWO situations:-
A. Helping verbs: When there is a main verb after each one of them
     [ Be careful that any verb comes after has, have or had must be past participle; the 3rd form of the verb ] 
Example:  
       
 1. He has _______________ the letter .
     A. writes                                                                       B. wrote
     C. writing                                                                      D. written
2. The boys ______________ eaten their food.
     A. will                                                                            B. have
     C. has                                                                             D. are 

  
  

   
  
  
  
  
 
   

 
            
I. Using Verbs to Have [ Has- Have – Had ]
- Negative form:
   I have seen the terrible accident.
   I have not/ haven’t seen the terrible accident.  
- Forming a question:
  I have done my homework.
  Have you done your homework? – Yes, I have OR  -No, I haven’t 
Example:
   1. My friend_________________ for the final test since 12 o’clock.
      A. have studied                                                                       B. has study
      C. is studying                                                                           D. has studied
  2.__________________ the medicine?
     A. Has she taken                                                                      B. She has taken
     C. Did she took                                                                         D. Is she taken  
  

   
  
  
  
  
 
   

 
            
I. Using Verbs to Have [ Has- Have – Had ]
B. As main verbs:  When there is no verb in the sentence except one of them ( has, have, had).  
- Each one of them often means own. 
Example 
 - He has attended the live lecture. [HAS  here is a helping verb]
 - He has a live lecture.                       [ Here HAS is a main verb ]  
 Negative Form:
 - He has attended the live lecture. [ Here HAS is a helping verb]
    He hasn’t attended  the live lecture. 
 - He has a live lecture.                       [ Here HAS is a main verb ] 
 -  He doesn’t have  a live lecture.   
  
  
 
   

 
            
I. Using Verbs to Have [ Has- Have – Had ]
Forming Questions :
 - He has attended the live lecture. [ Here HAS is a helping verb]
   Has he attended the live lecture?  - Yes, he has. OR No, he hasn’t
     
 - He has a live lecture.                       [ Here HAS is a main verb ] 
 -Does he have a live lecture?    - Yes, he does.  OR  No, he doesn’t   
Example:  
             - They have bought a new car.
Negative    - They  have not bought  a new car.
Yes/No Q    - Have they  bought  a new car?  Yes, they have OR  No, they haven’t.  
 
   

 
            
I. Questions
 1.Naji had a meeting at university, but Rami__________
      A. hadn’t                                                                  B. hasn’t
     C. doesn’t                                                                 D. didn’t
  2. __________ you have a car, Hashim?
    A. Have                                                                      B. Has
    C. Do                                                                          D. Are
  3. My mother ________________ our food yet.
    A. has prepare                                                          B. hasn’t prepared
    C. has prepared                                                        D. prepares
  4. I ______________________ my coffee.
    A. didn’t  had                                                            B. haven’t
    C. didn’t have                                                            D. hadn’t   
                                                                             
   

 
            

II. Using ( too, two, to, toe)

 A. Too = very or so
 I can’t carry the box. It’s too heavy.
B. Two= number 1+ 1 = Two
Fuad and Alia are two students.
C. To= Might be a preposition  or expression of purpose.
He went to Riyadh last week.  [ a preposition ]
He decided to meet the doctor. [ expression of purpose ]
D. Toe= a finger in foot
Every normal person has 10 toes in his feet.
 


  
  

   
  
  
  
  
 
   

 
            

II. Questions

1. Don’t go swimming. The water is ____________cold.
    A. to                                                                                 B. too
    C. two                                                                              D. toe
2. My brother travelled to United States__________ complete his higher education.
    A. two                                                                            B. too
    C. to                                                                                D. toe
3. I have _____________ friends in London.
   A. to                                                                               B. too
   C. toe                                                                             D. two 


  
  

   
  
  
  
  
 
   

 
            

III. Giving Advice Using (Should)


A. Should [ Giving advice to do something at present or in the future]
B. Shouldn’t [ Giving advice not to do anything at present or in the future]
C. Should have 
[ Giving delayed advice that something was hoped to be done but didn’t happen] 
D. Shouldn’t have 
[ Giving a delayed advice that something was hoped to be done but didn’t happen] 
  


  
  

   
  
  
  
  
 
   

 
            

III. Questions

 
1. Your friend always wastes time without studying and gets bad marks in the tests.
     You advise him by saying:
     A. You shouldn't’ study hard                                      B. You should fail the tests
     C. you should waste time                                           D. You should study hard
 2. Your brother caught cold because he went outside without wearing heavy clothes.
    You say to him:
  A. You should have worn heavy clothes
  B. You shouldn’t have caught cold
  C. You should have gone outside
  D. You should not wear heavy clothes 
3. Rashed made a terrible accident because he drove his car fast.
  He ____________________ his car fast 
  A. should drive                                                             B. should have driven
  C. shouldn’t have driven                                            D. should has driven

  
  

   
  
  
  
  
 
   

 
            


